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% In the name of Allah

o0
0

(

alef)

clearvars;
close all;

f0 = 300e6;

TO = 1/£0;

ts = T0/10;

Fs = 1/ts;

PRI = 50e-6;

tau = 5e-6;

t = -50*PRI:ts:50*PRI;

N = length(t);

P tau = rectpuls(t,tau);

P tau f = fftshift(fft(P_tau));
freq = linspace(-Fs/2,Fs/2,N);

figure;plot (t,P tau);

grid on;

x1im([-0.5,0.5]*PRI);

title('rect pulse');

xlabel ('time(s) "),

figure;plot (freq,20*1ogl0 (nrml (abs(P_tau f))));
title ('DFT of rect pulse');

xlim([-5/tau 5/taul);

ylim([-50 0]);

xlabel ("frequency (Hz)"');

ylabel ('dB'");

grid on;

clear P tau P tau f

3% (be)

d = -50*PRI:PRI:50*PRI;

yl = pulstran(t,d, 'rectpuls', tau);

Y1l = fftshift (fft(yl));
figure;plot (freq, (nrml (abs(Y1l))))
x1lim ([0 1.5/taul):;

xlabel ('frequency (Hz) '),



grid on;

clear yl1 Y1

%% (jim)

d = -10*PRI:PRI:10*PRI;

y2 = pulstran(t,d, 'rectpuls', tau);
Y2 = fftshift (fft(y2));
figure;plot (freq, (nrml (abs(Y2))));
x1lim ([0 1.5/taul):;

xlabel ('frequency (Hz) '),

grid on;

clear Y2

%% (dal)

y3 = y2.*cos (2*pi*f0*t);

Y3 = fftshift (£ft(y3));
figure;plot (freq, (nrml (abs(Y3))))
x1im([£f0-0.5/tau £0+0.5/taul);
xlabel ('frequency (Hz) '),

grid on;

clear y3 Y3

%% (he)

v = 100;

lam = 3e8/f0;

fd = 2*v/lam;

fr = £f0+£d;

y4 = y2.*cos (2*pi*fr*t);

Y4 = fftshift (fft(v4));

hold on;plot (freq, (nrml (abs(Y4))))
x1im([£f0-0.05/tau £0+0.05/taul);
legend('stationary target', 'moving target');



